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88. REZHEK]

(B 1)
L2245 FRL234 T4 255 FRL264F
b 283 240 208 147 129
#® # BE# 307 253 206 142 139
K& 28 15 17 22 12
W= 125 90 81 46 48
OB E M4 B 141 106 80 41 56
xE 21 11 12 17 9
b 97 92 75 50 45
XILBEREH BE# 97 92 75 50 45
RF - - - - -
e 14 8 10 7 9
#EEH B 22 6 10 9 7
xE 1 3 3 1 3
b 47 50 42 44 21
T Ot EH BE# 47 49 41 42 31
*/ﬁ - 1 2 4 -
XimEE S B EFOH
KT FEDHIEITEBETH S (B Kz EFIAT]
89. FHIEF MK
(B 1)
L2245 FRE234 FRL2445 255 FRL264F
b 48 45 58 51 "
#® # BE# 49 40 62 53 69
K& 3 8 4 2 4
5% y y - y ¥
OB OE M| B - - - - -
i : : - - -
I 48 45 45 35 45
B X F H BE# 49 40 49 37 43
K& 3 8 4 2 4
W= = - 13 16 26
T DD EH B - - 13 16 26
i : : - - -
XimEE S B OH
KTER226FEDHIEITEBETH S (BEH Kz EFIAT]
90. REZHMEK]
(B 1)
L2245 FRL2346 FRL2445 255 FRE264F
b 309 290 333 359 392
#® # BE# 296 294 338 332 406
K& 36 32 27 54 40
W= 254 245 269 309 335
S = BE# 241 255 265 289 341
K& 21 11 15 35 29
b3 43 42 58 45 42
#EEH BEF 42 36 67 40 50
K& 15 21 12 17 9
5% y y - y y
% B % # | BEE - - - - -
F - - - 3 3
b3 12 3 6 5 15
T Ot EH BE# 13 3 6 3 15
5'&/% ~ - - 2 2
KRKERERHIFTEBHRADOH
KT FEDHIEITEBETH S (B XKERERHIF]
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91. ZBER L RENMH

(1) X EEWEEHH (B4 - 1)
FR22E ER23E FERR24% FR25E TER265
i # 242 226 185 189 164
E3 H 169 144 127 125 102
5 1 62 53 44 46 45
= L 4 16 6 8 9
= 4z = 4 9 5 8 7
% 7 & 1 1 = 1 -
z ] fth 2 3 3 1 1
XEILEEORYDERDI“L S
(2) RIGEH (B4 A)
FR22E ER23E FERR24% FR25E TER265
i # 327 4) 300 (6) 268 (11) 263 (2) 232 (10)
E3 Jz! 233 (1) 196 (5) 195 (9) 184 (1) 150 (2)
1= Y] 84 (2) 74 (1) 58 (2) 61 (1) 63 (6)
= th 3 () 17 7 8 11
8 5 B 4 9 5 8 7 (2)
&+ 1T & 1 1 = 1 -
z ] fth 2 3 3 1 1
XEILEEORYDERDI“L S
X () [FEEN
(3) XERENEEE (B &)
FR22E FER23E K245 FRR25E TER265
I =1 18 103 103 103 103 104
O 5 E OB 3 3 3 2 2

(B =EERE]

92. FRILDFE &1RFEIR

FRL224E 234 R 244G F 255 264
A () 411 399 405 360 367
LS BREEH () 132 140 147 102 119
BREAE (AN 60 92 78 90 68
REEH ) 1 2 5 = 1
X &L REHH ) 1 1 3 2 1
BEAE (A) 1 1 1 = 1
A () 300 293 311 264 284
BEL BREHH () 90 92 83 50 94
BREAE (N 24 43 46 45 47
REEH ) 22 21 17 13 8
HAREL REHH ) 16 18 12 13 5
BEAE (A) 16 25 11 16 5
A () 88 83 12 83 74
)R ] BREEH () 25 29 49 37 19
BREAE (AN 19 23 20 29 15
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93. SERELHEER

(B2 N)
SER225 ER23E SER245 ERL25F SER265
#a # 18 31 13 24 14
= A = = - - -
58 & - - - - -
i3 X = = = = =
58 #& - - - - -
= 17 = 2 - - -
5 eSS 6 2 - -
Z 8 = 3 - - -
= g - 1 5 - -
% = 10 - 16
H3 -4 - 3 - - -
1 L = = = = -
Hh W & 2 - 1 - - -
G A Bt Y A 1 4 4 1
% ) fth 7 1 2 7 3
(B SEEERE]
94, FRITAVERETH
(B2 N)
SER225 ER23FE SER245 ERL25F SER265
b # 135 106 83 86 88
:/4 b = = = 3 -
2 ped 26 14 14 217 18
= ¥ I H = = - -
#HOR T B - 5 -
A M F P B = = = -
£ M FEE XK - - 1 - -
& E 5 H L = = - - -
L TR A ol R - _ _ ~ -
= £ 1 A 4 - - -
E H 3 3 -
F: T ) S = = = = = 2
3 = S A 2 N A 96 80 52 40 50
=2 L 3 5 11 9
TREREMEMNTAS - 1 1 - 3
£ B X K = = = - -
X g £ 1 - - - 2
© ) fth = = - - -
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05. M HARR
(1) HiEH __
mukst | #Edor | mmas | mmkse | MER | oM 3 i;ﬁf
Rk 21 & 6 - 1 n = g 15[ 11,607
T 2 & 13 - 4 - - 7 24| 34,532
FH 23 & 13 - 4 - - 7 24| 15,357
T 24 & 10 1 3 - - 19 33| 24,919
A 25 & 18 2 3 - - 18 a1l 70,343
FH 26 4 15 4 - - 2 43| 312,115
I A - - - - . - - 0
2 B 3 - 1 - - 2 6 4 513
3 A 1 = = = = 1 2 17,093
4 B 3 1 1 - - 10 15 16, 747
5 A = 1 = = = 2 3 0
6 B 1 - - - - 3 4 0]
1H 3 = = = = = 3 1, 863
8 A - - - - - 1 1 13
9 A 2 = 1 = = 3 6 841
10 A 1 - - - - - 1 270, 857
1 A - - - - = = = 0
12 B 1 - 1 - - - 2 188
(2) BEHERR
FERR FRER
o4 v | mam | Ee 3 e L
() () (a)
TRk 21 & 1 - 2 3 6 586.0 30.0 -
TRE 22 & 3 2 3 5 13 362.0 7.0 -
TRk 23 & 1 - 5 7 10 3,596.0 16.2 -
TRk 24 & 2 1 3 4 10 8,413.0 9.6 3
TR 25 & 13 2 9 8 32 13,100. 2 381.0 3
TRk 26 &£ 6 1 = 8 15 1,779.2 1.2 16
(3) Y SRR
SEf & Y st |y, g | AT ATH | WBET ) s
540 AR | gy | BEER | ORER
%E | B6E Fm | Fm (%)
TRk 21 & - 1 3 9 1.3 967 174 2.8
TRk 22 & 1 1 6 11 2.0 2,818 1,439 4.4
TRk 23 & - 3 7 20 2.0 1,222 611 4.5
TRk 24 & - = 6 8 3.0 2,076 755 6.0
TRk 25 & - 7 13 30 3.4 5, 861 1,715 7.9
TRk 26 & 11 9 24 3.6 26, 010 1, 258 8.3
(4) [RERXKEFEEWKR (BT - 1)
3t tEC | BE |(RErIE| BREE | Rk | o | F8
TRk 21 & 15 1 - - 1 - 1 2
TRk 22 & 24 1 = = 1 2 15 5
TRk 23 & 24 2 - - 2 1 15 4
TRk 24 & 33 2 = = 2 5 18 6
TR 25 F 39 8 - - - 1 30 -
TRk 26 & 43 6 = = = 3 32 2
(@5 HAS)
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96. FEIK:

(BAI : #)

5 prage vy : _—T =
#o| x| 55 | G | 3w | 5w | we | s | U5 | Ga | 28 | TOR

Tk 21 &£ 2,222 1 - 1 207 18 18 369 4 151 1,371 206
Tk 22 &£ 2,324 14 - 4 223 31 2] 351 9 341 1,424 207
Tk 23 &F 2,459 11 - 5 236 21 24 392 8 22| 1,526 214
TRk 24 &£ 2,425 9 - 3 197 30 29 380 8 24] 1,553 192
Tk 25 &F 2,458 13 - 4 231 32 21 415 11 211 1,514 196
TRk 26 F 2,343 13 - 10 223 20 21 385 5 29| 1,445 192
1A 215 - = = 18 1 = 39 = 2 128 2]

2 A 188 6 - 1 17 1 1 39 - 3 106 14

3 A 191 1 = = 19 = 3 37 = 3 112 16

4 H 185 2 - - 14 4 1 22 - 1 120 21

5 A 181 = = 1 14 1 4 29 = 1 119 12

6 A 184 - - 1 16 1 2 34 1 5 109 15

1H 211 1 = = 22 2 = 38 = 1 132 15

8 A 206 - - 2 19 3 2 32 1 1 132 14

9 A 204 1 = 3 20 = 4 29 2 2 126 17

10 A 179 1 - 1 19 1 2 26 - 6 106 17

1A 17 - - - 18 2 2 29 1 2 103 14

12 H 228 1 - 1 217 4 - 31 - 2 162 10

(B CHBAR)

(BEAL - )

= IVRSSS
; AR By | B | %2 | osm | o5k | I
TR 21 & 44 7 17 1 - - 1 - - 18
TR 22 & 58 14 24 2 = 1 - - - 17
TR 23 & 50 10 19 4 - 3 1 - - 13
TR 24 & 55 10 30 4 = 1 - - - 10
R 25 & 61 13 17 2 14 2 - 1 - 12
TR 26 & 50 9 21 - 2 2 1 - 12
1A 4 = 3 = = = = = - 1
2 B 3 2 1 - - - - - - -
3 A 2 1 = = = = = = - 1
4 B 10 2 3 - - 1 - - - 4
58 1 = = = = = = = = 1
6 A 5 - 1 - - - - - 3
1H 6 1 3 = - - 1 - - 1
8 A 5 - 4 - - - - - - 1
9 A 4 1 = 1 = 1 - 1 - -
10 A 4 1 1 1 - - 1 - - -
1A - = = - = = - - - -
12 B 6 1 5 - - - - - - -

(B CHBFAH)
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